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Paper : GE-3 (A)

( Indian Economy )

1. Wﬁmﬂwﬁm@wm 1x8=8

Answer the following as directed :

(@) OIS /7 )
What is globalization?
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(b)

(d
(e)
"
(9
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(2)

“Towards faster and more .inclusive
growth’ %] SIS TH! RIRE “ARFEA A

The Five-Year Plan in which ‘towards
faster and more inclusive growth’ was
targeted is

(i) 79 “iRkTEA (9th Plan)
(i) % *RRFE (10th Plan) -
(iii) < “RFF (11th Plan)
(iv) 9% “iRFEF (12th Plan)
(&% Tl A SRt )

( Choose the correct answer )

QI AT I TR RTINS
wRitE?

Who had propounded the concept of
Human Development Index (HDI)?

PreT 9 2R T B @

What do you mean by infant mortality
rate?

MGNREGA-3 79 bt fBrat|

Write the full form of MGNREGA.

Lis o e

What is incidence of poverty?

SR W W R wife?

What was the base of Taiwan Model?

{ Continued )

)

2. w© MR R @A ot e/ o GR/Se
- fort (ARSTBY S ¢o *=iq ToeTS) ¢

( 3)

OISR SR HRE I 46T TS SRS ?

In which sector maximum number of
labour force of India are involved?

4x4=16

Answer/Write short notes on any four of the
following (within 150 words each):

(@)

(b)

(c)

S R e Saw
Import substitution and protection

SRS WIF A IRAR TINE SEE P T

Pl 1
Compare the HDI rank of India and
South Korea. '

T SR uReet

 Absolute and relative poverty

@

(e)

24P/303

GRAST S Sl Roitet SRyl

Population as a factor of economic
development

Demographic dividend

{ Turn Over )



(4)

O PR TG Bt (20t ¢oo e fEeTe)
Answer the following questions (within 500 words

each):

3. (a)

9. (a)

(b)

24P/303

AF-TETOR FoT SRS HIAIT S
Fo$ SIS 391 | 14

Discuss the condition of the Indian
economy on the eve of Independence.

%31/Or
SITSS 555 THS 3% 3 qLHARS ofsfon
A o A 741 | 14

Discuss the new Economic Reforms of
1991.

WW{W%?WWMW@,
Ffa ] 4+10=14

What is Human Development Index?
Explain how Human Development
Index is calculated.

%31/ Or

SRS I IF Bre Sy seed SiEat
e f 14

Discuss about the age and sex
composition in India.

( Continued )

S. (a)

(b)

6. (a)

(b)

24P/303

(5

SRS AREel JAFIN IR Az FA Rfew
IR Raw iyt = 14
Explain the various measures taken to
alleviate poverty in India.

%]/ Or

o111t i 14

Discuss the nature of unemployment
and its estimates in India.

iAo Sage AR BaeE, whET @Ra
I DI Sieered F9 SHEIZ IO #4114

Explain the measures taken by
Singapore, South Korea and Taiwan for
economic development.

oY/ Or

SRS wiIF froiveR SR wemee gl
Rall 14

Comparatively analyse the economy of
India and Singapore.

{ Turn Over )



(6) (7))

Paper : GE-3 (B) | (d) IR SBRE @R T5e RAE GEOR TN
( Money and Financial Markets ) farat |
Name the oldest stock exchange in
1. oo Fabmg PR get Bt 1x8=8 India.

Answer the following as directed : . o :
(e) TR IR Wy =z *
(@ TR LT A | ' Interest rate dlfferentlal is
: ite ' tiplier.
Write t—he formula for money mgL plier (z) w *H G’HG qﬁ W -

- R R e w@ww,ewwquw
B Which of the following is not a financial - : :
intermediary? difference between interest rate on
' consumer loan and saving deposit
(i) I ARSI | | i e =
Business firm (@ RBI-d bl oﬁq ™ |
| e e 2T WS mw ’
(ii) T 7 difference between prewous rate of
Broker . - interest and ' current rate of
interest fixed by RBI
(iii) TS Rvw @ (i) TR 439 i RvGIR T 9T ToleR
Stock exchange . TS -4 AGT ALY
. the direct difference between the
~ (iv) ﬁ?ﬁﬂ?l - , : percentage of interest rates of two
Regulator similar investments

( &= SeIt A Sfereat )

) @R IS T
( Choose the correct answer ) (iv) &*RI <bre W

None of the above
(c) SEBI = Feutht frdi| (% Teawt S Bhrear )
Write the full form of SEBL ( Choose the correct answer )
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(9)

)
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( 8)

QEe Wox N e <GB o See 39t

Mention any one element of Balance

" Sheet,

wlifees R @am REgd sRRE e
P! SiifRet AR TR ?

Which of the. following is not an
instrument of monetary authority to
control money supply in an economy?

. () am IW eifE

Open market operatidn

() TR S

Moral suasion
(iii) T ArErENTS
Marginal requirement
(iv) T4 =t 391 S
Principle of note issue

(W% Saaht A Shrsat )

( Choose the correct answer )

& i A Rl Ty
PR ST @O AR At T4 W2

Which of the following policies is more
effective for monetary management in
an open economy?

(i) Gft S
Monetary policy

{ Continued )

(9)

(ii) I3 S
~ Fiscal policy
(iii) IBF-TPWIN WS
Export-import policy
(iv) @ BB
All of the above

2. 5 Gt Pt (R et wilRen) - 4x4=16
Write short notes on (any four) :
(a) ©RSS ER AN .
Money supply in India
(b) INEGF AR T™W “ARvret

Portfolio management of commercial
bank

o) - REw bl
Non-bank financial intermediaries
(d) Iw T Rivw &=
National Stock Exchange

(e) 8w gz sfRA
Functions of financial system

3. 9 AT R @SFT SAMAREIR [ R SR
TFIET TR AR R eI gerie =9
iAot #41 1 6+6=12
What are the components of money supply

in an economy? Discuss how money supply
influences the general price level.

24P/303 : ( Turn Over )



4.

24P/303

( 10 )

%91/Or
5y Gt forat
Write short notes on:
fa) TuR A
Functions of money

(b) T BT
Money multlpher

6x2=12

aﬂwﬁﬁsﬁ@ammmw

1 11

Discuss the role of ﬁnanc1a.l- institutions in
an economy.

o[ /or
T TEIRT K Bl | iR 3w I O 29y
o ot AN 3+(4+4)=11

Define capital market. Explain the functions
and importance of capital market.

R e IF B2 9 Srmie wdAiRee Ry

IR SR e IR [ A 4+7=11

What is financial system? Elaborate the role

of financial system in a developing economy.
931/Or

wm-aWwWWmmmu
5+6=11

Illustrate the obJectwes and functlons of
SEBI.

( Continued )

24P/303

(11)

6. W TR TR~k o Brt1 I/ PiR-sheie

AP OB BB 9 | 4+7=11
What is term-structure of interest  rate?
Explain the expectations theory of term-
structure of -interest.

9_1/0r

wmﬁéﬁr olREp-Afer gt w=oi$ I
]| i 2R RS oiep-Aiew AmEee I

IERGIREA? (OE $6I] AeE e fmil 6+5=11

Explain the role of hquldlty-preference in the
determination of the rate of interest. Does
liquidity-preference  approach offer a
satisfactory explanation about determination
of the rate of interest? Justify your answer.

ARGF @O ¥t YRT ARFAD! WESN I | W
AT JrYt A 7+4=11
Discuss the process of credit creation of

a commercial bank. Explain the limitations

of it.

%31/ Or

ST GRRR 467 EE R e = 11
Discuss the banking sector reform in India.

Paper : GE—3 (C)
( Environmental Economics )

woe TR RoMiER Oe Pt 1x8=8

Answer the following as directed :

(a) AR A

Define externalities.

( Turn Over )



(b)

(c)

24P/303

( 12 )

g S Y S S —
IR Rl @cgat R iR

Pigovian tax can be imposed to correct
the problem of market failure in the
presence of which of the following?

(i) SoTsieS i iRt

Positive externality in consumption
(i) TS g RSt

Negative externality in production
(iii) TSNS TP Aot

Negative externality in consumption
(iv) S*R] b =

None of the above

GIRRY TR SR s TRt SR

In which form of property rights regime
excludability is the highest?

(i) TS TR wieR
Private property rights
(i) G iy =R
Common property rights
(i) Mg iRy wRTR
State property rights
(iv) T& iR iR

Open access resources rights

{ Continued )

(d)

(e)

()

24P/303

(13 )

e 45w Il wfE
Montreal Protocol was signed in
i) Sd>b¢ e
1985
(i) 59 TTS
1972
fiii) Sob9 IS
1987
iv) S5d% H®
1996
oY IR @Bt Swgaet fat |

Give one example of pollution permit.

T O <o MRSl SEY F4
State one limitation of Coase theorem.
SR @ Aol IwRe v ffee
dferrs wEdE w1 T
Which of the following is not included
by the price mechanism of the
competitive markets?
(i) R v e T
The use value of environmental
resource

(@) SN-JRI FT
Non-use value

(iii) Iw3-RYT =
Non-market value

(iv) SRR (ii) AIF (iti) TERO!

 Both (i) and (iii)
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( 14 )

(h) SRR ITTH TIAT ARNDR TR RIS
@ TS (IR SHII6iRRe ?
In which year the sustainable
development concept of economics was
first forwarded in the United Nations?

(i) S>b0/1980
(i) S5¥1/1987
(iii) S>4¢/1975
(iv) 5%0/1960

2. i FEIRAE R I BB @i¥® By (it Bt
5x4=20

(2fet Seo = fooTe) :
Write short notes on any four
following (within 150 words each):

@ SRS i AR e Roret AR
Environment as an economic asset and
social asset

(b) CEENE CrPTRS AR PR
Major causes of deforestation in the
developing countries

(c) o QRA CRAS PTG SR T-TAePFl
Cost effectiveness of tradable pollution
permit in controlling pollution

(@) el g
Loss of biodiversity

(e) PRIb-BR-PIT IZT TSR @Y.

Pearce-Atkinson measure of sustainable
development

of the

( Continued )

3. (a)

(b)

(15 )

Ry =@ie FPrm F @ R
ey e wivs e R wis o
NS I ¥4 | 3+10=13
What is environmental economics?

Discuss the issues and problems
related to environmental economics.

Y/ Or
&R Rewrol P B o7 @ Reeer
IR B 57 REw 3R/ s IuR
Rea e =7 @i F:40 3+4+6=13

What do you mean by market failure?
What are the causes of market failure?
Why does market fail for environmental

' quality? Discuss.

: 4. (@)

(b)

24P/303

oMot et frsie, IR wiF s
IR Row sabs oo oiRwd
FPTFR ST 0 | % TGRSR
®g ~Rif wisrRTwt | 9+4=13
Explain the environmental problems in
Assam with a special reference to solid
waste management, deforestation and

watershed management. Suggest a few
practical solutions to the problems.

L3/ Or |
R it 34| 13

Give an account on the envirorimental

policies undertaken in developing
countries.
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(16 )

5. (o) RN EoRee RERRRe urm Rt
- it 9 AR e S-IRER T
(&N EIRN (TS <% *afed AR ot
10+3=13
Discuss the contingent valuation method
of environmental valuation. Show the

benefit of this method in measuring non-
user value of environmental resources.

e
(b) ARG mg Ty Feer Rida smfemz
A [ e S 13

E)&plain the various methods of
valuation of -environmental goods.

6. (a) ITHY SHE QNG JROT I | I wAO!
QT §RY AR? i 34 5+8=13

Explain the concept of sustainable
development. How do we measure
sustainability? Discuss.

S%J]l/Or
(b) CERRT AR S F T SHE IS
wive Rivw eisifes s e[ s =t
IR ‘ 13

Explain the various international

agreements related’ to the global

concern for environmental protection
. and sustainable development.

* %k %

24P—4000/303 3 SEM TDC GEEC (CBCS) GE 3 (A/B/C)



